Accuplacer Prep-Elementary Algebra

Thursday, July 22, 2010
10:58 AM

Elementary Algebra

A total of 12 questions of three types are administered
in this test.

« The first type involves operations with integers
and rational numbers, and includes computation
with integers and negative rationals, the use of
absolute values, and ordering.

« The second type involves operations with algebraic
expressions using evaluation of simple formulas
and expressions, and adding and subtracting
monomials and polynomials. Questions involve
multiplying and dividing monomials and
polynomials, the evaluation of positive rational
roots and exponents, simplifying algebraic
fractions, and factoring.

« The third type of question involves translating
written phrases into algebraic expressions and
solving equations, inequalities, word problems,
linear equations and inequalities, quadratic
equations (by factoring), and verbal problems
presented in an algebraic context.

1. If A represents the number of apples purchased at 15 cents
each, and B represents the number of bananas purchased
at 10 cents each, which of the following represents the total
value of the purchases in cents?

A A+B ISA + J0OB

B. 25(A +B)
C. 10A + 15B ~— N~
o

(D-’ro-)\ Cosh

Wz +10 =

*P\ G-hs= Jas = {30
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3. ‘W] s the | of the expression 2x* + 3xy — 4y’ when x =

-"x -80
B. 80
C. -32
D. 32

2(2) +3 () - 4 )
aW) + 26%) -4 ()
¥ —-a4 -4 = EXo

4. Inthe hg re belov bth Ih e the emerand
h d fhlg ] leh d of the 11

th]hfhfI] gp L
of e shded Avrec. =T

TN L
Ar&a, L&rgt Circle = IR
I\nu SW\&(\ Qi(c\&’« /I-TJ(Q-3)
Area Shaded Port= TR™_ m(e-3)

(3 -3y Gx-a4)
Foo@))GD = 9%
O Gy (-ay)
BN EFMIEY
Lo (Fay) gy = 4y
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Lo Fxg) (ay) = q*
5{»(14}%%+ Wl

6. 1fx>2, then 3278

oy = (-0 (K3 3)

fox-( = (x3)(*+ )
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4+ = 1D
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g\\(~3/§\¥\4\> - -5

AxX -3y -\y = -5
N
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9.

—3(5-6)-4(2-3)=
A -7

C. -1
D1

~a(s-0) -4 (a-3)
3D (D
3 +4 =1

10. Which of the following expressions is equivalent

t020 -2 x> 167
A x<5
. X25

C. x=32%
D. x=32%
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